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34.	 Which of the following statements is not 
correct with reference to the position of the 

Council of Ministers:

(a)	 All the ministers own joint 

responsibility to the Lok Sabha for all 

their acts of omission and commission.

(b)	 Passage of no confidence motion calls 

for the resignation of ministers from 

Lok Sabha only.

(c)	 There is no provision of legal 

responsibility of the Council of 

ministers.

(d)	 The word ‘Cabinet’ features in the 

Constitution.

35.	 Consider the following statements: 

1.	 The first coalition government at the 

Centre to complete its full term was 

from 1999 to 2004.

2.	 In India, parties can form a pre-election 

coalition only.

	 Select the correct answer using the code 

given below:

(a)	 1 only

(b)	 2 only

(c)	 Both 1 and 2

(d)	 Neither 1 nor 2

36.	 Which of the following statements is not 
correct regarding the delimitation process?

(a)	 A Delimitation Commission was set up 

under the Delimitation Act, 2002.

(b)	 84th Amendment, 2002 effected a 

freeze on the delimitation till 2026.

(c)	 The main objective of delimitation is to 

provide equal representation to equal 

segments of a voters.

(d)	 The current constituencie’s boundaries 

have been drawn on the basis of the 

1971 Census.

37.	 Consider the following instruments 

exercised in the parliament:

1.	 Ordinance

2.	 Guillotine

3.	 Tribunalisation

4.	 Whip

	 Which of these above reduce the control of 

the Parliament over the executive?

(a)	 1 and 2 only 

(b)	 2 and 3 only

(c)	 1, 3 and 4 only 

(d)	 1, 2, 3 and 4

38.	 With reference to the powers of a Governor, 

which of the following statements are 

correct?

1.	 A Governor can use his discretion to 

reserve a bill for the consideration of 

the President of India.

2.	 When a Governor is given an additional 

charge as the administrator of the 

Union Territory (UT), he can take 

actions pertaining to UT at his own 

discretion.

3.	 An Individual cannot be a Governor for 

more than two states at a given point.

	 Select the correct answer using the code 

given below:

(a)	 1 and 2 only

(b)	 1 and 3 only

(c)	 2 and 3 only

(d)	 1, 2 and 3


